Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0 ‘ - - - - - -
B
339.00 5
3X 334.00 @ @ ® ——————327.5
2X 329.00 6X @3.5THRU
307.00
294.500 ——
87 5 ° S 2X 287.50
979 5 276.5
Ve ~N 4X FEX-M3 Inserts )
Install from other side
223.3 o| L
215.3 / o~
o~
‘ 3
S 5 3 s
< N = Q
X S R %
&
2X M3 X 0.5 THRU
Q o
O O
N ™M
AN N
\ LW ‘ J . J 2X R10.0 \/
59.5 oo 62.5
2X 51.50
4450 — o _ o 2X 36.50
2X27.65 ® @\\e 21.00 1.5
2X 5.00 ‘ 2X 5.50
O T O WO
@2250THRU o© OO0 OO0 O
12X ©4.50 THRU 2 22 2x2 Sng’EsR AND FAR
= © 9 IR S RN
Q Q © XX X N
o OO O O O O o L N
— OO v O un O O N
<X 0w s O w o w >x DRAWNBY . . .
G222 R o &d Y SINNEMA | 7/18/14 Sinnema Design Services
) SIESIES I &&X MATERIAL seth.sinnema@gmail.com
Notes: See Notes

Phone: (303) 250-8218
Fax: 1-267-393-7872

1. Material: RoHS compliant 12AWG (.08") Aluminum A UNLESS OTHERWISE SPECIFIED

} DIMENSIONS ARE IN MILLIMETERS.

TITLE
2. Break all sharp edges prior to powder coat. TOLERANCES ARE: . .
Mask all threads prior to coating. __ - DECIMALS ANGLES BOTTO m P|C1 Te ’ M NI
X+.75 X°£1°
3. Part is to be powder coated with Cardinal color C241-BK109. RE 63 SIZE | DWG NO. REV.
Thickness of coating must not exceed 0.08mm. XXXX£.050 A PP-FPO0O53 C
. . . . BREAK EDGES .005/.020 SCALE SHEET
nk mark in area indicated with first initial of your company name FILLET RADIUS .005/.020 1:3 DO NOT SCALE DRAWING 10OF3

A



Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0 ‘

/

2X 7.0
2X 9.00 e;\ ©
2X 18.0
2X 21.00 2X R10.0
\ SECTION B-B
oo oo 4X FEX-M3 Inserts . o oo
Qo Install from other side QN
ST e &S >R
o o™
4X FEX-M3 Inserts
Install from other side
o o
o (@) (@) O OO
gaoQ o N w0 < N o
* 00 — (@] ™ o~ ™ < 0
N— ™M N~ N N ™MD O™

2X 21.00 or®
2X 18.0 o R100
2X 9.00
2X 7.0
N
é e bomm- AW | e 2X 10.0
0 0

/ SECTION A-A
2X @7.0 THRU ©16.0 THRU

BREAK ALL
SHARP EDGES

TITLE
WELD ALL 4 e
A a s WA Bottom Plate, Mini
THIS EDGE SIZE | DWG NO. REV.
A PP-FPO0O53 C
SCALE 1.3 | DO NOTSCALE DRAWING  SHEET 2 OF 3



Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0

8XR10.0
\

[o]
[o]
\( N N 2495
_ J Y, 5o
oo
0
o o o Q o
o N N n
: 8 8 8
TITLE
Bottom Plate, Mini
SIZE | DWG NO. REV.
A PP-FPO053 C
SCALE 1.3 | DO NOTSCALE DRAWING  SHEET 30F3




	SHEET 1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View3
	Section View A-A
	Section View B-B

	Sheet2
	Drawing View8


